

# SOLUTION OF FREDHOLM INTEGRAL EQUATION VIA WEAK CONTRACTION

### MUNIRAH ALJUAID, SAMAD MUJAHID\*, AND SOKHOBIDDIN AKHATKULOV

ABSTRACT. In this article, we establish fixed point theorems for Geraghty-weak contraction in  $M_{rb}$ -metric space. Our results extend and improve many existing results in literature. Additionally, we provide an example that demonstrates the utility of our results. Lastly, we apply our main result to investigate the existence and uniqueness of a fixed point by solving an integral equation.

## 1. INTRODUCTION AND PRELIMINARIES

If u remains invariant under  $\mathfrak{H}$  (i.e.,  $\mathfrak{H}u = u$ ), then  $\mathfrak{H}$  has a fixed point u. The first basic fixed point theorem was established by Banach in his dissertation in 1922 and is known as the Banach contraction principle. There are number of generalizations (see [3, 6, 9–11, 17, 18]). Indeed, the rectangular metric space is one of the most interesting generalization purposed by Branciari [5]. As an extension of rectangular metric spaces, George et al. [7] presented rectangular b-metric spaces in 2008 and demonstrated fixed point results for the same. By presenting the idea of extended rectangular b-metric spaces in the recent past, Asim et al. [4] broadened the notion of rectangular b-metric spaces and used it to prove a fixed point theorem with an application. Partial rectangular metric spaces were first developed in 2014 by Shukla et al. [19] as a generalization of rectangular metric. Parvaneh et al. [14] established the concept of partial rectangular b metric space in 2017.

On the other hand Asadi et al. introduced the idea of M-metric space as a generalization of metric space and partial metric space and proved some fixed point results with its topological properties.

Notation 1([1]). The following notations will be utilized in the definition of M-metric space.

(1)  $m_{u,v} = \min\{m(u,u), m(v,v)\},\$ 

(2)  $M_{u,v} = \max\{m(u,u), m(v,v)\},\$ 

In 2014, Asadi et al. [1] introduced the following definition of *M*-metric space.

**Definition 1.1** ([1]). Let  $\xi \neq \emptyset$ . For all  $u, v, w \in \xi$ , a mapping  $m : \xi \times \xi \to \mathbb{R}_+$  is *M*-metric, if it meets the following axioms:

- (1) m(u, u) = m(u, v) = m(v, v) if and only if u = v,
- (2)  $m_{u,v} \leq m(u,v),$
- (3) m(u, v) = m(v, u),

(4)  $(m(u,v) - m_{u,v}) \le (m(u,w) - m_{u,w}) + (m(w,v) - m_{w,v}).$ 

Then, the pair  $(\xi, m)$  is said to be a M-metric space.

<sup>2020</sup> Mathematics Subject Classification. 47H10, 54H25.

Key words and phrases. Fixed point,  $M_{rb}$ -metric, Geraghty-weak contraction.

Notation 2 ([12]). The following notations will be utilized in the definition of  $M_b$ -metric space.

- (1)  $m_{b_{u,v}} = \min\{m_b(u, u), m_b(v, v)\},\$
- (2)  $M_{b_{u,v}} = \max\{m_b(u, u), m_b(v, v)\},\$

After two years, Mlaiki et al. [12] introduced the following definition of  $M_b$ -metric space.

**Definition 1.2** ([12]). Let  $\xi \neq \emptyset$ . For all  $u, v, w \in \xi$ , a mapping  $m_b : \xi \times \xi \to \mathbb{R}_+$  is  $M_b$ -metric with coefficient  $s \ge 1$ , if it meets the following axioms:

- (1)  $m_b(u, u) = m_b(u, v) = m_b(v, v)$  if and only if u = v,
- (2)  $m_{b_{u,v}} \leq m_b(u,v),$
- (3)  $m_b(u, v) = m_b(v, u),$

(4)  $(m_b(u,v) - m_{b_{u,v}}) \leq s[(m_b(u,w) - m_{b_{u,w}}) + (m_b(w,v) - m_{b_{w,v}})] - m_b(w,w).$ Then, the pair  $(\xi, m_b)$  is said to be a  $M_b$ -metric space.

Notation 3([13]). The following notations will be utilized in the definition of rectangular *M*-metric space.

- (1)  $m_{r_{u,v}} = \min\{m_r(u, u), m_r(v, v)\},\$
- (2)  $M_{r_{u,v}} = \max\{m_r(u, u), m_r(v, v)\}.$

In 2018, Özgür et al. [13] introduced the following definition of rectangular M-metric space.

**Definition 1.3** ([13]). Let  $\xi \neq \emptyset$ . For all  $u, v \in \xi$  and all distinct  $p, q \in \xi \setminus \{u, v\}$ , a mapping  $m_r : \xi \times \xi \to \mathbb{R}_+$  is rectangular *M*-metric, if it meets the following axioms:

- (1)  $m_r(u, u) = m_r(u, v) = m_r(v, v)$  if and only if u = v,
- $(2) \quad m_{r_{u,v}} \le m_r(u,v),$
- (3)  $m_r(u,v) = m_r(v,u),$

(4)  $(m_r(u,v)-m_{r_{u,v}}) \le (m_r(u,p)-m_{r_{u,p}}) + (m_r(p,q)-m_{r_{p,q}}) + (m_r(q,v)-m_{r_{q,v}}).$ Then the pair  $(\xi, m_r)$  is said to be a rectangular *M*-metric space.

Notation 4. The following notations will be used in the definition of rectangular  $M_b$ -metric space.

(1)  $m_{rb_{u,v}} = \min\{m_{rb}(u,u), m_{rb}(v,v)\},\$ 

(2)  $M_{rb_{u,v}} = \max\{m_{rb}(u,u), m_{rb}(v,v)\}.$ 

Rectangular  $M_b$ -metric space was first described as a generalization of both rectangular M-metric space and  $M_b$ -metric space by Asim et al. [2] in 2019.

**Definition 1.4** ([2]). Let  $\xi \neq \emptyset$ .  $\forall u, v \in \xi$  and all distinct  $p, q \in \xi \setminus \{u, v\}$ , a mapping  $m_{rb} : \xi \times \xi \to \mathbb{R}_+$  is  $M_b$ -metric with coefficient  $s \geq 1$ , if it meets the following axioms:

 $(1m_{rb}) m_{rb}(u, u) = m_{rb}(u, v) = m_{rb}(v, v)$  if and only if u = v,

- $(2m_{rb}) \ m_{rb_{u,v}} \le m_{rb}(u,v),$
- $(3m_{rb}) \ m_{rb}(u,v) = m_{rb}(v,u),$

964

 $(4m_{rb}) \ (m_{rb}(u,v) - m_{rb_{u,v}}) \le s[(m_{rb}(u,p) - m_{rb_{u,p}}) + (m_{rb}(p,q) - m_{rb_{p,q}}) + (m_{rb}(q,v) - m_{rb_{q,v}})] - m_{rb}(p,p) - m_{rb}(q,q).$ 

Then,  $(\xi, m_{rb})$  is said to be a rectangular  $M_b$ -metric space.

**Remark 1.5.** The pair  $(\xi, m_r b)$  reduces to rectangular metric space with s = 1.

Now, we adopt an example of a rectangular  $M_b$ -metric space

**Example 1.6.** Let  $\xi = [0, \infty)$  and l > 1 any positive integer. Define  $m_{rb} : \xi \times \xi \rightarrow \mathbb{R}_+$  by  $(\forall u, v \in \xi)$ :

$$m_{rb}(u,v) = \max\{u,v\}^l + |u-v|^l.$$

Then  $(\xi, m_{rb})$  is a rectangular  $M_b$ -metric space with coefficient  $s = 3^{l-1}$ . It is simple to verify, by using basic computation that  $(\xi, m_{rb})$  is not a rectangular M-metric space.

**Definition 1.7.** A sequence  $\{u_n\}$  in  $(\xi, m_{rb})$  is said to be convergent to  $u \in \xi$  iff  $\lim_{n \to \infty} (m_{rb}(u_n, u) - m_{rb_{u_n, u}}) = 0.$ 

**Definition 1.8.** A sequence  $\{u_n\}$  in  $(\xi, m_{rb})$  is said to be Cauchy iff

$$\lim_{n,m\to\infty} (m_{rb}(u_n, u_m) - m_{rb_{u_n,u_m}}) \text{ and } \lim_{n,m\to\infty} (M_{rb_{u_n,u_m}} - m_{rb_{u_n,u_m}})$$

exist and finite.

**Definition 1.9.** If every Cauchy in  $\xi$  is convergent to some point in  $\xi$ , then the rectangular  $M_b$ -metric space  $(\xi, m_{rb})$  is complete.

# 2. Main results

**Lemma 2.1.** Assume a sequence  $\{u_n\}$  in  $M_{rb}$ -metric space  $(\xi, m_{rb})$  such that  $\lim_{n\to\infty} m_{rb}(u_n, u_n) = 0$ . Then,

- (1) The sequence  $\{u_n\}$  is Cauchy in  $(\xi, m_{rb})$  iff the sequence  $\{u_n\}$  is Cauchy in  $(\xi, r_b)$ .
- (2) The  $(\xi, m_{rb})$  is complete iff  $(\xi, r_b)$  is complete.

Geraghty [8] established a fixed point result and broadened the Banach contraction principle in 1973. Later, using Geraghty-weak contractions, Roshan et al. [15] demonstrated fixed point results in *b*-metric spaces.

Following [8], let  $\theta : [0, \infty) \to [0, \frac{1}{s})$  (with  $s \ge 1$ ) for any sequence  $t_n \in [0, \infty)$  satisfies the following:

$$\limsup_{n \to \infty} \theta(t_n) = \frac{1}{s} \implies \lim_{n \to \infty} t_n = 0.$$

Let  $\Theta$  denotes for the set of all  $\theta$ .

**Definition 2.2.** Let  $(\xi, m_{rb})$  be a  $M_{rb}$ -metric space. A mapping  $\mathfrak{H} : \xi \to \xi$  is said to be Geraghty-weak contraction if there exists  $\theta \in \Theta$  such that

(2.1) 
$$m_{rb}(\mathfrak{H}u,\mathfrak{H}v) \le \theta(m_{rb}(u,v))N(m_{rb}(u,v)),$$

where

$$N(m_{rb}(u,v)) = \max\left\{m_{rb}(u,v), \frac{m_{rb}(u,\mathfrak{H}u)m_{rb}(v,\mathfrak{H}v)}{1+m_{rb}(\mathfrak{H}u,\mathfrak{H}v)}\right\}.$$

**Theorem 2.3.** Let  $(\xi, m_{rb})$  be an  $M_{rb}$ -metric space with coefficient  $s \geq 1$  and  $\mathfrak{H}: \xi \to \xi$  a Geraghty-weak contraction. Then,  $\mathfrak{H}$  has a unique fixed point u such that  $m_{rb}(u, u) = 0$ .

*Proof.* Assume that  $u_0 \in \xi$  and the iterative sequence  $\{u_n\}$  can be constructed by:

$$u_1 = \mathfrak{H} u_0, \ u_2 = \mathfrak{H}^2 u_0, \ u_3 = \mathfrak{H}^3 u_0, ..., u_n = \mathfrak{H}^n u_0, \cdots$$

If  $m_{rb}(u_n, u_{n+1}) = 0$  for some  $n \in \mathbb{N}_0$ , then  $u_n$  is a fixed point of  $\mathfrak{H}$  and we are done. Henceforth, we assume that  $m_{rb}(u_n, u_{n+1}) > 0$  for all  $n \in \mathbb{N}_0$ . We assert that  $\lim_{n\to\infty} m_{rb}(u_n, u_{n+1}) = 0$ . On setting  $u = u_{n-1}$  and  $v = u_n$  in (2.1), we get

$$m_{rb}(u_n, u_{n+1}) = m_{rb}(\mathfrak{H}u_{n-1}, \mathfrak{H}u_n) \le \theta(m_{rb}(u_{n-1}, u_n))N(m_{rb}(u_{n-1}, u_n))$$

$$(2.2) < \frac{1}{s}N(m_{rb}(u_{n-1}, u_n)) \le N(m_{rb}(u_{n-1}, u_n)).$$

where,

$$N(m_{rb}(u_{n-1}, u_n)) = \max\left\{m_{rb}(u_{n-1}, u_n), \frac{m_{rb}(u_{n-1}, \mathfrak{H}u_{n-1})m_{rb}(u_n, \mathfrak{H}u_n)}{1 + m_{rb}(\mathfrak{H}u_{n-1}, \mathfrak{H}u_n)}\right\}$$
  
$$= \max\left\{m_{rb}(u_{n-1}, u_n), \frac{m_{rb}(u_{n-1}, u_n)m_{rb}(u_n, u_{n+1})}{1 + m_{rb}(u_n, u_{n+1})}\right\}$$
  
$$\leq \{m_{rb}(u_{n-1}, u_n), m_{rb}(u_{n-1}, u_n)\}$$
  
$$= m_{rb}(u_{n-1}, u_n).$$

Therefore, (2.2) gives rise

(2.3) 
$$m_{rb}(u_n, u_{n+1}) < m_{rb}(u_{n-1}, u_n).$$

Hence,  $\{m_{rb}(u_n, u_{n+1})\}$  is a decreasing sequence of positive real numbers. So that, there exists  $r \ge 0$  such that

$$\lim_{n \to \infty} m_{rb}(u_n, u_{n+1}) = r.$$

Assume that r > 0. Then from (2.2), we have

$$\lim_{n \to \infty} m_{rb}(u_n, u_{n+1}) \le \lim_{n \to \infty} \left[ \theta(m_{rb}(u_{n-1}, u_n)) N(m_{rb}(u_{n-1}, u_n)) \right].$$

Using the definition of  $\theta$  we obtain  $r < \frac{1}{s}r$ , a contradiction. Thus,

(2.4) 
$$\lim_{n \to \infty} m_{rb}(u_n, u_{n+1}) = 0$$

Now, by taking  $u = u_{n-1}$  and  $q = u_{n+1}$  in (2.1), we get

$$m_{rb}(u_n, u_{n+2}) = m_{rb}(\mathfrak{H}_{u_{n-1}}, \mathfrak{H}_{u_{n+1}}) \le \theta(m_{rb}(u_{n-1}, u_{n+1}))N(m_{rb}(u_{n-1}, u_{n+1}))$$

$$(2.5) < \frac{1}{s}N(m_{rb}(u_{n-1}, u_{n+1})) \le N(m_{rb}(u_{n-1}, u_{n+1})),$$

where,

$$N(m_{rb}(u_{n-1}, u_{n+1})) = \max\left\{m_{rb}(u_{n-1}, u_{n+1}), \frac{m_{rb}(u_{n-1}, \mathfrak{H}u_{n-1})m_{rb}(u_{n+1}, \mathfrak{H}u_{n+1})}{1 + m_{rb}(\mathfrak{H}u_{n-1}, \mathfrak{H}u_{n+1})}\right\}$$
$$= \max\left\{m_{rb}(u_{n-1}, u_{n+1}), \frac{m_{rb}(u_{n-1}, u_n)m_{rb}(u_{n+1}, u_{n+2})}{1 + m_{rb}(u_n, u_{n+2})}\right\}$$
$$\leq \max\left\{m_{rb}(u_{n-1}, u_{n+1}), [m_{rb}(u_{n-1}, u_n)m_{rb}(u_{n+1}, u_{n+2})]\right\}.$$

Thanks to (2.3), we have some obliteration, that is, we have

 $N(m_{rb}(u_{n-1}, u_{n+1})) \leq \max\left\{m_{rb}(u_{n-1}, u_{n+1}), [m_{rb}(u_{n-1}, u_{n})]^2\right\}.$ 

Here, we assume that

 $\max\left\{m_{rb}(u_{n-1}, u_{n+1}), [m_{rb}(u_{n-1}, u_n)]^2\right\} = m_{rb}(u_{n-1}, u_n) \text{ or } [m_{rb}(u_{n-1}, u_n)]^2.$ Since  $\lim_{n \to \infty} m_{rb}(u_{n-1}, u_n) = 0$ , then from (2.5), we have

$$\lim_{n \to \infty} m_{rb}(u_n, u_{n+2}) = 0.$$

On similar way, one can easily obtain

(2.6) 
$$\lim_{n \to \infty} m_{rb}(u_n, u_n) = 0.$$

By the definition of  $r_b$  and conditions (2.4) and (2.6), we have

(2.7) 
$$\lim_{n \to \infty} r_b(u_n, u_{n+1}) = \lim_{n \to \infty} r_b(u_n, u_{n+2}) = \lim_{n \to \infty} m_{rb}(u_n, u_n) = 0.$$

Firstly, we show that  $u_n \neq u_m$  for any  $n \neq m$ . Let on contrary that,  $u_n = u_m$  for some n > m, then we have  $u_{n+1} = \mathfrak{H} u_n = \mathfrak{H} u_m = u_{m+1}$ . Then, from (2.2) we have

$$\begin{aligned} m_{rb}(u_m, u_{m+1}) &= m_{rb}(u_n, u_{n+1}) = m_{rb}(\mathfrak{H}u_{n-1}, \mathfrak{H}u_n) \\ &\leq \theta(m_{rb}(u_{n-1}, u_n)) N(m_{rb}(u_{n-1}, u_n)) \\ &< \frac{1}{s} N(m_{rb}(u_{n-1}, u_n)) \\ &\leq N(m_{rb}(u_{n-1}, u_n)), \\ &\leq m_{rb}(u_{n-1}, u_n). \end{aligned}$$

Then we have

$$m_{rb}(u_m, u_{m+1}) = m_{rb}(u_n, u_{n+1}) < m_{rb}(u_{n-1}, u_n) < m_{rb}(u_{n-2}, u_{n-1}) < \vdots < m_{rb}(u_m, u_{m+1})$$

a contradiction. Thus, in what follows, we can assume that  $u_n \neq u_m$  for all  $n \neq m$ . Now, we have to show that  $\{u_n\}$  is Cauchy sequence in  $(\xi, m_{rb})$ . For this we have to show that the sequence  $\{u_n\}$  is Cauchy in  $(\xi, r_b)$  (see Lemma 2.1). On the contrary suppose that,  $\{u_n\}$  is not Cauchy sequence. Then, there exists  $\epsilon > 0$  for which we can find two subsequences  $\{n_k\}$  and  $\{m_k\}$  such that  $n_k$  is the smallest index for which

(2.8) 
$$n_k > m_k > k \text{ and } r_b(u_{m_k}, u_{n_k}) \ge \epsilon.$$

This means that

$$(2.9) r_b(u_{m_k}, u_{n_k-1}) < \epsilon$$

By using (2.8) and rectangular inequality of  $r_b$ , we obtain

$$(2.10) \quad \epsilon \le r_b(u_{m_k}, u_{n_k}) \le sr_b(u_{m_k}, u_{n_k-1}) + sr_b(u_{n_k-1}, u_{n_k+1}) + sr_b(u_{n_k+1}, u_{n_k}).$$

Taking, upper limit as  $k \to \infty$  and using (2.7) and (2.9), we have

(2.11) 
$$\epsilon \leq \limsup_{k \to \infty} r_b(u_{m_k}, u_{n_k}) \leq s\epsilon$$

On the other hand, by the definition of  $r_b$  and using (2.6), we have

$$\lim_{k \to \infty} r_b(u_{m_k}, u_{n_k}) = 2 \lim_{k \to \infty} m_{rb}(u_{m_k}, u_{n_k}).$$

This shows that

(2.12) 
$$\frac{\epsilon}{2} \le \limsup_{k \to \infty} m_{rb}(u_{m_k}, u_{n_k}) \le \frac{s\epsilon}{2}.$$

Using (2.1) and the definition of  $r_b$ , we have

$$\lim_{k \to \infty} m_{rb}(u_{m_k}, u_{n_k}) \leq \lim_{k \to \infty} sm_{rb}(u_{m_k+1}, u_{m_k}) + \lim_{k \to \infty} sm_{rb}(u_{m_k+1}, u_{n_k+1}) + \lim_{k \to \infty} sm_{rb}(u_{n_k+1}, u_{n_k}),$$
(2.13) 
$$\leq s \lim_{k \to \infty} \theta(m_{rb}(u_{m_k}, u_{n_k})) N(m_{rb}(u_{m_k}, u_{n_k})),$$

where,

$$(m_{rb}(u_{m_k}, u_{n_k})) = \max\left\{m_{rb}(u_{m_k}, u_{n_k}), \frac{m_{rb}(u_{m_k}, \mathfrak{H}u_{m_k})m_{rb}(u_{n_k}, \mathfrak{H}u_{n_k})}{1 + m_{rb}(\mathfrak{H}u_{m_k}, \mathfrak{H}u_{n_k})}\right\}$$

$$(2.14) = \max\left\{m_{rb}(u_{n_k}, u_{m_k}), \frac{m_{rb}(u_{m_k}, u_{m_k+1})m_{rb}(u_{n_k}, u_{n_k+1})}{1 + m_{rb}(u_{m_k+1}, u_{n_k+1})}\right\}$$

On making the upper limit as  $k \to \infty$  and using (2.6) in (2.14), we have

$$\limsup_{n \to \infty} N(m_{rb}(u_{m_k}, u_{n_k})) = \limsup_{n, m \to \infty} m_{rb}(u_{m_k}, u_{n_k})$$

Hence, from (2.13), we obtain

$$\limsup_{n \to \infty} m_{rb}(u_{m_k}, u_{n_k}) \le s \limsup_{n, m \to \infty} \theta(m_{rb}(u_{m_k}, u_{n_k})) \limsup_{n, m \to \infty} m_{rb}(u_{m_k}, u_{n_k}).$$

In view of our assumption,  $\limsup_{k\to\infty} m_{rb}(u_{m_k}, u_{n_k}) \neq 0$ , so from above inequality, we get

$$\frac{1}{s} \le \limsup_{k \to \infty} \theta(m_{rb}(u_{m_k}, u_{n_k})).$$

Since  $\theta \in \Theta$ , we deduce that  $\lim_{n,m\to\infty} m_{rb}(u_{n_k}, u_{m_k}) = 0 \Rightarrow \lim_{n,m\to\infty} r_b(u_{n_k}, u_{m_k}) = 0$ , which is a contradiction. Therefore,  $\{u_n\}$  is Cauchy sequence in  $(\xi, r_b)$ . Consequently,  $\{u_n\}$  is Cauchy sequence in  $(\xi, m_{rb})$ , that is

$$\lim_{n,m\to\infty} (m_{rb}(u_n, u_m) - m_{rb_{u_n,u_m}}) = 0.$$

and

$$\lim_{n,m\to\infty} \left( M_{rb_{un,u_m}} - m_{rb_{un,u_m}} \right) = 0.$$

Since  $(\xi, m_{rb})$  is complete then there exists  $u \in \xi$  such that

$$\lim_{n \to \infty} (m_{rb}(u_n, u) - m_{rb_{u_n, u}}) = 0$$

To show that u is a fixed point of  $\mathfrak{H}$ , by the continuity of  $\mathfrak{H}$ , we have

$$u = \lim_{n \to \infty} u_{n+1} = \lim_{n \to \infty} f u_n = f(\lim_{n \to \infty} u_n) = \mathfrak{H}u.$$

Hence, u is a fixed point of  $\mathfrak{H}$ .

Let's assume for the uniqueness component that u, v exist in  $\xi$  such that  $\mathfrak{H}u = u$ and  $\mathfrak{H}v = v$ . Then from (2.1), we obtain

$$\begin{split} m_{rb}(u,v) &= m_{rb}(\mathfrak{H}u,\mathfrak{H}v) \leq \theta(m_{rb}(u,v))N(m_{rb}(u,v)) \\ &< \frac{1}{s}N(m_{rb}(u,v)) \leq N(m_{rb}(u,v)) \\ &= \max\left\{m_{rb}(u,v), \frac{m_{rb}(u,\mathfrak{H}u)m_{rb}(v,\mathfrak{H}v)}{1+m_{rb}(\mathfrak{H}u,\mathfrak{H}v)}\right\} \\ &= m_{rb}(u,v) \end{split}$$

a contradiction, unless  $m_{rb}(u, v) = 0 \implies u = v$ . Hence  $\mathfrak{H}$  has unique fixed point in  $\xi$ .

Finally, we demonstrate that  $m_{rb}(u, u) = 0$  if u is a fixed point. Let u be a fixed point of  $\mathfrak{H}$  to achieve this

$$\begin{split} m_{rb}(u,u) &= m \quad {}_{rb}(\mathfrak{H}u,\mathfrak{H}u) \\ &\leq \quad \theta(m_{rb}(u,u))N(m_{rb}(u,u)) \\ &< \quad \frac{1}{s}N(m_{rb}(u,u)) \leq N(m_{rb}(u,u)) \\ &= \quad \max\left\{m_{rb}(u,u), \frac{m_{rb}(u,\mathfrak{H}u)m_{rb}(u,\mathfrak{H}u)}{1+m_{rb}(\mathfrak{H}u,\mathfrak{H}u)}\right\} \\ &= \quad \max\left\{m_{rb}(u,u), \frac{m_{rb}(u,u)m_{rb}(u,u)}{1+m_{rb}(u,u)}\right\} \\ &< \quad m_{rb}(u,u), \end{split}$$

yielding thereby  $m_{rb}(u, u) = 0$ . This concludes the proof.

We now present the following example which shows the utility of our result. **Example 2.4.** Let  $\xi = [0, 1]$  and let  $m_{rb} : \xi \times \xi \to \mathbb{R}^+$  is defined by:

$$m_{rb}(u,v) = \left(\frac{u+v}{2}\right)^{\frac{1}{2}}$$

Then it is clear that  $(\xi, m_{rb})$  is an complete  $m_{rb}$ -metric space with s = 3. Consider a mapping  $\mathfrak{H} : \xi \to \xi$  defined by:

$$\mathfrak{H}=rac{u}{3}, \quad \forall \ u\in \xi.$$

It is easy to check that all the conditions of Theorem 2.3 are fulfilled with  $\theta(u) = \frac{2}{7}$ for each u > 0 and  $\theta(u) \in [0, 1/3)$ . Then the contractive condition (2.1) is trivially holds. Now, by taking u = 4 and  $v \in \{1, 2, 3, 5\}$ , such that  $u \leq v$ , we obtain  $\mathfrak{H}u = 1$ and  $\mathfrak{H}v = 3$ . Then by contractive condition (2.1), we have

$$m_{rb}(\mathfrak{H}u,\mathfrak{H}v) = \left(\frac{\frac{u}{3} + \frac{v}{3}}{2}\right)^2 = \frac{1}{9}\left(\frac{u+v}{2}\right)^2$$
$$\leq \frac{2}{7}\left(\frac{u+v}{2}\right)^2$$
$$= \theta(u)d(u,v)$$

$$\leq \theta(m_{rb}(u,v))N(u,v).$$

It follows that  $\mathfrak{H}$  has a unique fixed point (which is u = 0).

The following corollary is proved by Asim et al. [2].

**Corollary 2.5.** Let  $(\xi, m_{rb})$  be a complete rectangular  $M_b$ -metric space with coefficient  $s \ge 1$ . Suppose  $\mathfrak{H} : \xi \to \xi$  satisfies the following conditions:

$$m_{rb}(\mathfrak{H}u,\mathfrak{H}v) \leq \lambda m_{rb}(u,v) \ \forall \ u,v \in \xi$$

where  $\lambda \in [0, \frac{1}{s})$ . Then, f has a unique fixed point u such that  $m_{rb}(u, u) = 0$ .

# 3. Application

In this section, we use Theorem 2.3 to examine the existence and uniqueness of solution of the nonlinear Fredholm integral equation. Consider the following Fredholm type integral equation:

(3.1) 
$$u(t) = \int_{a}^{b} \mathfrak{G}(t, s, u(t)) ds, \text{ for } t, s \in [a, b]$$

where  $\mathfrak{G}, h \in \xi = \mathbb{C}([a, b], \mathbb{R})$ , the set of continuous real valued functions defined on [a, b]. Define  $m_{rb} : \xi \times \xi \to \mathbb{R}^+$  and  $\theta : [0, \infty) \to [0, \frac{1}{s})$  by  $\theta(u) = \frac{2}{7}$ .

$$m_{rb}(u(t), v(t)) = \sup_{t \in [a,b]} \left(\frac{|u(t)| + |v(t)|}{2}\right)^2$$
 for all  $u, v \in \xi$ .

Then,  $(\xi, m_{rb})$  is an complete  $m_{rb}$ -metric space.

Now, we are equipped to assert and demonstrate our result as follows:

**Theorem 3.1.** Assume that (for all  $u, v \in \mathbb{C}([a, b], \mathbb{R})$ )

(3.2) 
$$|\mathfrak{G}(t,s,u(t)) + \mathfrak{G}(t,s,v(t))| \le \frac{1}{3(b-a)}|u(t) + v(t)|, \text{ for all } t,s \in [a,b].$$

Then the integral equation (3.1) has a unique solution.

*Proof.* Define  $\mathfrak{H}: \xi \to \xi$  by

$$\mathfrak{H}u(t) = \int_a^b \mathfrak{G}(t, s, u(t)) ds$$
, for all  $t, s \in [a, b]$ .

Observe that, existence of a fixed point of the operator f is equivalent to the existence of a solution of the integral equation (3.1). Now, for all  $u, v \in \xi$ , we have

$$\begin{split} m_{rb}(\mathfrak{H}u,\mathfrak{H}v) &= \left|\frac{\mathfrak{H}u(t) + \mathfrak{H}v(t)}{2}\right|^2 = \left|\int_a^b \left(\frac{\mathfrak{G}(t,s,u(t)) + \mathfrak{G}(t,s,v(t))}{2}\right) ds\right|^2 \\ &\leq \left(\int_a^b \left|\frac{\mathfrak{G}(t,s,u(t)) + \mathfrak{G}(t,s,v(t))}{2}\right| ds\right)^2 \\ &\leq \left(\int_a^b \frac{1}{3(b-a)} \left|\frac{u(t) + v(t)}{2}\right| ds\right)^2 \\ &\leq \frac{1}{9(b-a)^2} \sup_{t \in [a,b]} \left(\frac{|u(t)| + |v(t)|}{2}\right)^3 \left(\int_a^b ds\right)^2 \end{split}$$

970

$$\leq \frac{1}{9}m_{rb}(u,v) \leq \theta(u)d(u,v) \leq \theta(m_{rb}(u,v))N(u,v).$$

As a result, Theorem's 2.3 requirements are all met. Hence, the Fredholm integral Equation (3.1) has a unique solution since the operator  $\mathfrak{H}$  has a fixed point, which is unique. The evidence is now complete.

## 4. Conclusions

Due to the fact that  $m_{rb}$ -metric space is a really sharpened form of both  $m_r$ metric space and  $m_b$ -metric space. In  $m_{rb}$ -metric space, we demonstrated a fixed
point result for Geraghty-weak contraction. Additionally, a model is created to
illustrate the usefulness of our findings.

#### Acknowledgment

All authors are very thankful to the learned referees for pointing out many omissions and mistakes.

The authors extend their appreciation to the Deanship of Scientific Research at Northern Border University, Arar, KSA, for funding this research work through the project number NBU-FFR-2025-2182-01

#### References

- M. Asadi, E. Karapinar and P. Salimi, New extension of p-metric spaces with some fixed-point results on M-metric spaces, J. Inequal. Appl. 18 (2014): Article number 18.
- [2] M. Asim, A. R. Khan and M. Imdad, Rectangular M<sub>b</sub>-metric spaces and fixed point results, Journal of mathematical analysis, 10 (2019), 10–18.
- [3] M. Asim, K. S. Nisar, A. Morsy and M. Imdad, Extended rectangular  $M_{r\xi}$ -metric spaces and fixed point results, Mathematics 7 (2019): 1136.
- [4] M. Asim, M. Imdad and S. Radenovic, Fixed point results in extended rectangular b-metric spaces with an application, U.P.B. Sci. Bull., Series A 81 (2019), 43–50.
- [5] A. Branciari, A fixed point theorem of Banach-Caccioppoli type on a class of generalized metric spaces, Publ. Math. 57 (2000), 31–37.
- S. Czerwik, Contraction mappings in b-metric spaces, Acta Mathematica et Informatica Universitatis Ostraviensis, 1 (1993), 5–11.
- [7] R. George, S. Radenovic, K. P. Reshma and S. Shukla, Rectangular b-metric spaces and contraction principles, J. Nonlinear Sci. Appl. 8 (2008), 1005–1013.
- [8] M. Geraghty, On contractive mappings, Proc. Am. Math. Soc. 40 (1973), 604–608.
- M. Imdad and R. Gubran, Ordered-theoretic fixed point results for monotone generalized Boyd-Wong and Matkowski type contractions, J. Adv. Math. Stud. 10 (2017), 49–61.
- [10] E. Karapinar and Andreea Fulga, Contraction in Rational Forms in the Framework of Super Metric Spaces, Mathematics 10 (2022): 3077.
- [11] S. G. Matthews, Partial metric topology, Annals 728 (1994), 183–197.
- [12] N. Mlaiki, A. Zarrad, N. Souayah, A. Mukheimer and T. Abdeljawed, Fixed Point Theorems in M<sub>b</sub>-metric spaces, J. Math. Anal., 7 (2016), 1–9.
- [13] N. Y. Özgür, N. Mlaiki, N. Tas and N. Souayah, A new generalization of metric spaces: rectangular M-metric spaces, Mathematical Sciences, 12 (2018), 223–233.
- [14] V. Parvaneh, F. Golkarmanesh and R. George, Fixed points of Wardowski-Ciric-Presic type contractive mappings in a partial rectangular b-metric space, Journal of Mathematical Analysis 8 (2017), 183–201.
- [15] J. R. Roshan, V. Parvaneh, Z. Kadelburg and N. Hussain, New fixed point results in brectangular metric spaces, Nonlinear Analysis: Modelling and Control, 21 (2016), 614–634.

- [16] B. Samet, Discussion on "A fixed point theorem of Banach-Caccioppoli type on a class of generalized metric spaces" by A. Branciari, Publ. Math. Debr., 76 (2010), 493–494.
- [17] N. Savanovi'c, I. D. Arandelović and Z. D. Mitrović, The results on coincidence and common fixed points for a new type multivalued mappings in b-metric spaces, Mathematics, 10 (2022): 856.
- [18] S. Shukla, Partial b-metric spaces and fixed point theorems, Mediterranean Journal of Mathematics 11 (2014), 703–711.
- [19] S. Shukla, Partial rectangular metric spaces and fixed point Theorems, The Scientific World Journal, (2014), 7, dx.doi.org/10.1155/2014/756298.

Manuscript received May 20, 2024 revised September 17, 2024

M. Aljuaid

Department of Mathematics, Faculty of Science, Northern Border University, Arar 73222, Saudi Arabia

*E-mail address*: moneera.mutlak@nbu.edu.sa

S. Mujahid

- Department of Mathematics, Jamia Millia Islamia, New Delhi-110025, India *E-mail address*: mujahidsamad721@gmail.com
- S. AKHATKULOV
- Samarkand State University, Samarkand, Uzbekistan *E-mail address*: a-soxobiddin@samdu.uz